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Paper Code 2024 (I"-A) D
Number: 1471 SSC PART-1 (9" Class) '
PHYSICS  PAPER-1 GROUP-I [P0 S P

4
TIME ALLOWED: 15 Minutes M q/’\/: [ — Y w15 = s

MAXIMUM MARKS: 12

OBJECTIVE s .2

12

Y
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You have four choices for each objective type question as A, B, C

Ky sl 2004 Uy 0/ P J;/ ;’aﬂ_, b's /:Jr szl

A

and D. The:choice which you think is eorrect, fill that bubble in front of that question number, on bubble sheet. Q.No.1
Use marker or pen to fili the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.
D c B A QUESTIONS /=iy Sr.No.
9 7 6 3 The number of base units in SI 1
are: -‘cnp”J .fgd:yeu: SI N
Distance Speed Velocity Displacement | A change in position is called: 2
Lok L & dartho e QW vty
Rate of change of momentum is 3
Distance Mass Force Torque equal to:
e vl 7] Sk e Bl 28 detf<r|
’ " ' {%@)wm_/ RS A
(Thenumber of perpendicular 5
4 3 2 1 I components of force are:
XK % Sl LS|
350,000 Km 360,000 Km 370,000 Km @\@ Km The distance of moon from earth 6
\QS is: — b LKA .
Thermal energy | Kinetic energy | Potential & Electric energy | The energy stored in a dam is: 7
St s G ¢ Gt gig? S e QG AN EES |
10 % 90 % % 100 % The efficiency of an iéeal 8
. AW system is: -‘é.(jliLf;"/ i [t
Nm™2 N@ Nim® Nm In SI system the unit of pressure 9
is: -g_b'x._*/':,'lf,‘:‘/,ui’ﬁ"/ SI
-273K 0K 3O 0" F Water freezes at: 10
e blurisg F AU
Which one of the following 11
Mercury Water Ice Copper material has large specific heat?
$/7 i Sy 4 Joosd cnzatid 2V e
e
Chlorine Carbon Carbon dioxide Oxygen Global warming is due to which 12
b monoxide IS8 uzf,' gas?
AT ¥ ?4_(3:14,.3:(;( uj ‘_/ ,&,],J,ﬂ

17(0bj)(¥)-2024(1%-A)-85000 (MULTAN)



E O T S e

R S o ok .

TIME ALLOWED: 1.45 Hours
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145

MAXIMUM MARKS: 48

SUBJECTIVE A1

48 =4S

NOTE: Write same question numbar and its parts number on answer book, as given in the question paper. t,pJ{Mylz&l)/z”|/'J“‘u1,4(é(4]_g_:&)

SECTION-1 Jil.0
2. Attempt any five parts. ‘ 10=2 x5 ..5{/_/’:.«&!:25.12455.:.@:( 2/1}:,
(i) | Define Plasma Physics. S PSS ()
(if) | List any four base units with symbols. . ufical.lkul Lhosw JLF il s et G
(iii) | Why we use screw gauge to measure diameter of a wire? l Sy ’.’.,Gf:‘ L s /f o S OI “ (iii)
(iv) | Define dynamics. WISV (@iv)
(v) | On which bodies does Newton’s first law deal? B 3L (Lt S eS¢ ()
(vi) | Narrate Newton’s second law of motion. S eI 7 b (vi)
(vii) | State Law of Gravitation. S eudigtisyS | (viD
(viii) | Why we do not realize gravitational force around us? S AedY) ,{‘J/;J“/_'d Y J, /”)/,é,:_, A (viii)
3. Attempt any five parts. 10=2 x5 & F el z[.még:_éf 320
() Differentiate between linear motion and random motion. ET3S I et (6]
(i) | Why the passengers standing in a bus fall forward on st Sud S LT LB L abo e L (i1)
applying brakes suddenly? s Y R :
(iii) | Define g:r.g\intational accglqation and whez}) does the ¢ ‘1,_3 A it ity fSH M G (iif)
value of “g” become positive and negative?
(iv) | Define Young’s Modulus and write its mathematical i W ey A e (iv)
formula. N "
(v) | What does it mean when the atmospheric pressure at a place Yﬁ@[ W g S bs | M)
fall suddenly? g ’ '
(vi) | State Pascal’s law. Write its two applications. a @x’fﬂ'£&wtuédl-.f_f.:uguih"b’ft vi)
(vii) | State Archimedes principle. Q&\ Lt A | VD)
(viii) | Differentiate between elasticity and elastic [imit. ‘/(7»\/ B B (viii)
4, Attempt any five parts. Nﬁ;—x’g - 4/’*9'34:'2'&3“—&[ 42y
(i) | Define Couple. Write mathematical equation @\tﬁta! oSS L LI g )| D
torque. X& - i -
(ii) | Define second condition of equilibrin @\\Jﬁite its -ia_"«bl/i}lr"Ju"uic‘;’:’-@;(ﬂ;'d/uafrf {luf‘f»‘ (i)
mathematical expression. . ) ) ' ) _
(iii) | Does the ceiling fan satisfy s ‘eondition for S Ui 28 e s e giatrd e iy | (D)
equilibrium when rotating iifoi.n speed? —\J
(iv) | How energy is produ@gﬁ/buming fossil fuels? o dig Gl 2B )d | (V)
(v) | Define an ideal system with respect to efficiency. _E A S L@ )
(vi) | Write mass-energy equation and how can apply it in el O L S st @l e ain @ A (vi)
daily life with example. B )
(vii) Why does a piece of stone sink in water but a ship U b 4';& Az _'g,d»? P v”‘u_‘:&&i Sz | (viD)
with huge weight floats? ) ;
(viii) | Differentiate between tempetature and heat. \ RIS Y (viii)
SECTION-II pu.e
NOTE: ‘ Attempt any two questions. 18=21x9 ‘ ~¢{,j_..4,_z£_.,u,,,,c__éf I s
5.(A) | What is meant by stopwatch? Describe in detail digital 4 S B S e B (NS
stopwatch. e * ' ’
(B) | The value of “g” is 4ms™ at a distance of 10,000 Km e g 262 10,000 Kmes p Lt ()
from the centre of the earth, find the mass of the earth? . IS S e Ams ™2
6.(A) | How can third equation of motion be derived P e o K S wiag A S (-6
graphically? o )
(B) | The density of air is 1.3kgm™, find the mass of the air in 10mx Tmx6m -<-1.3kgm™ i ()
a room measuring 10mx7mx6m. s Wy e, S
7.(A) | What is meant centre of gravity? Find centre of gravity e L Ptk o LIS p =y ST (-7
of an irregular shaped thin Lamina. T ’ ' , o
4 el ST
(B) | A balloon contains 1.2n2° air at 15°C . Find its volume (RS gs2in ] 2m’ 415°C e id L ()

at 40”C . Thermal coefticient of volume expansion of
air is 3.67 x 107 K

Lingdnrtpdndin i gt 40°C
5 -2 3.67x 107 K™ edferd
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You have four choices for each objective type question as A, B, C

£ 50059 bl 201G u:&}f(;é—)’-_’:/h’/ﬂs;.-/j_:)(u’/,b

Adir

and D. The choice which you think Js correct, fill that bubble in front of that question number, on bubble sheet. Q.No.1
Use marker or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question.
D c B A QUESTIONS /.ty Sr.No.
The number of significant 1
4 3 2 5 figures in 0.00580km is:
B fur syt 0.00580km
Displacement Distance Velocity Speed A change in position is called: 2
2t et dis 1 AN,
Velocity Mass Net force Force Inertia depends upon which? 3
G Ui s v S g AL
What will be the acceleration that| 4
is ‘ed by 16N force in a
3ms™ dms™ 2.5ms™ 2ms™ ass ot & kg?
( IS useN LGl S s
@O WS H M
“v The number of perpendicular 5
] 2 3 @ 4 components of a vector are:
- & -;_(jn)lﬁd/u"‘;f;;‘rdﬁfﬁf'g«f(
6.4x10°m | 64x10°m | 64x10%H-"| 64x10°m | Radius of earth is equal to: 6
A\ O SV 05
E=m’c? E=mc = mc? E =m?c Einstein’s mass-energy equation 7
(Q is: _‘L.:—DPL;/'LJLJJM/’T
@ The kinetic energy of a body 8
having mass 2 kg and speed
1517 2017 L | 251 Sms”™" will be:
S S5ms™ u/;lnri/:KZ JLK()U'K/I
_Jn&}l..@‘(j!ﬂ,(ul;yﬂ,//://fa_{{
In which state, molecules do not 9
Plasma Solid Liquid Gas leave their position?
il Wi A u*f 54 ij:; & )';;f'L U el 5w
eI
Normal human body temperature 10
40°C 98.6°C 37°C 371°F is: .
-‘ajgf./,}{‘ﬁﬁlj!ﬂ&f&gjﬂ
Convert 60°C on Celsius scale 11
into Fahrenheit:
a a _"‘ 0 7 7]
140° F 138° F 136°F | 122°F ‘_;:_;gszf/r:/;’60"c,r‘_);cu{‘..’
/e
Molecules Radiation Conduction Convection In gases, heat is mainly 12
collision Fisss Fr S transferred by:
55608, _gtng‘gaﬂidi’ﬂl/"u&]uﬁﬂf
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NOTE: Write same question number and its parts number on answer book, as given in the question paper. bt dr e s s v Qyzad

SECTION-I il
2. Attempt any five parts. ] 10=2x5 _éjgglzﬁlzxégbdf 240y

(i) | Define Atomic Physics andNuclear Physics. E pS S A eS| D

(ii) | How stopwatch is used? e S 4’@,,715, (i)

(iii) | Differentiate between Base quantities and B3P s 53 P sl e ol (iii)
Derived quantities. :

(iv) | Define Momentum. Write its unit. J&z{w”,"éé,f‘;f&f, @iv)

(v) | Write two disadvantages of friction. s L5550 M

(vi) | Define Inertia. e dea| OD

(vii) | What is meant by force of gravitation? Sl /lfc—cﬁ: $e.S ST (vii)

(viii) | Why law of gravitation is important to us? ‘-‘r.("‘lu:!éi-lhu”wuﬁ!da‘f (viii)

3. Attempt any five parts. 10=2 x5 _é,‘;ggmélzlégecjf 3y
(i) Differentiate between scalar and vector quantities. O S s ®

(ii) | For what purposes LIDAR gun is used? S‘;_JxJLJ’IJ_LMU»JJLIDAR (ii)

(iii) | Can a body moving at constant speed have acceleration? s AP yrs G AL S S et N3 (ii)

(iv) | Define Pascal’s Law. <Q \é).u/ ol Fy | W)

(v) | Describe principles of floatation. Eodmliyp| M

(vi) | Explain how a submarine floats on the water surfaces and a %éyu"mldtuui/&}bulfaf_;u, (vi)
dives down into water.

(vii) | Define greenhouse effect. 1 @ . é J /b(_‘@,ww yi (V‘l'l')
(viil) | Write difference between sea breeze and land bw -Jt)/dfdf.r-)ﬂld/‘f{"/ (viit)
4. Attempt any five parts. @(0;2 x5 i f leﬂ 48| aAUr

(i) | Define perpendicular components. @X & E /‘7Ju"": J;l’ hie? (.l-)

(1.1.) What is meant by centre of gra@%\) St e 3s ST (‘1.1.)

(iii) | Define moment of a force@}ﬁe example. desiy S FS b eny (iii)

(iv) | How can work be done iFabrick of 4kg is pulled up a Bt S 5m ‘._U:]_.;,",V(,Jr,/,ﬁ (iv)
height of 5m? : )

ey Sis
(v) | Define heat energy and write its some sources. Bsh L gmg S S Baen | W)
(vi) | What is the second name of a solar cell? How it is made? gﬁ_gﬁfﬂqébrrm/,,w:/, (vi)
“(vii) | What is the lower and upper fixed point marked on c.b‘ﬁtf-:ul].n:(&l!uﬁ/l/ﬂ/’)/d;&/’tuﬁ (vii)
Fahrenheit scale? How we take these values? "N/ ’ T o7
tetbYed o
(viii) | Write applications of Thermal expansion. ~J:J Skl f 7 (viii)
SECTION-II (».»
NOTE: | Attempt any two questions. 18=2x9 ’ - F ezl P P Y
5.(A) | Derive an equation for the orbital velocity of a i‘f_k&ﬂkﬁ:’;wwﬁz_xlfj,ﬁfédv (U5
satellite revolving around the earth. ) toT
4 __éiélc«lsl/

(B) | How much centripetal force is needed to make a G3ms™ L L Phis0em fKLJLrI/SOO )
body of mass 500g to move in a circle of radius i g i beod i Fe 2 ’
50cm with a speed of 3ms™ 2 4 -5‘5( RS e L e dy

6.(A) | Prove that v, =v, + at by using speed-time graph. | 4 v, =v,+at St sabiiS ety | ()6

(B) | The head of a pin is a square of side 10mm. Find 1 fteiOmm JJPJJ‘ﬁc_ué/I/JUWu:»ﬁ )

the pressure on it due to a force of 20N. - T ! A ’
5 UL 2 A S20N dn
7.(A) | Define torque and describe it in detail. 4 Sl e oo St | (T

(B) | Temperature of water in a beaker is 80°C . o A b 80°C iR KGg)ﬁm)L‘/g\.{I ()

What is its value in Fahrenheit scale? c ot e } o

S e
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PAPER: CODE - 2023 (1st-A) I1340%9 AUy
SSC PART-! (9th CLASS)

NUMBER: 1473 7

PHYSICS GROUPA by - ol
TIME ALLOWED: 15 Minutes OBJECTIVE (.2 w15 = o
MAXIMUM MARKS: 12 MTNa 123 12= A

S | A3 L N2 UL sl L s g 46312 -t L D 1 C B A ARl vy
4"3{4”’1.)' 1 —rLkLJW;/G/J@JHILLi }{J}]b -ﬁ»ur",wv&uﬁcﬂ:d;ﬂfl.ﬁ Jok L Lf.éfu:/'bu_l,ia-bg -2 .
Note: You have four cholces for each objective type question as A, B, C and D. The choice -Q/C:d'}ﬁuawy
which you think Is correct, fill that bubbie In front of that question number, on bubble sheet. Use marker-or pen
to fill the bubbles. Cutting or fllling two or more bubbles will result in zero mark in that quesflon. No credit wiil he
awarded In case BUBBLES are not fllled. Do not solve questions on thls sheet of OBJECTIVE PAPER.

Q.No.1 ' -1 A
(1) The number of forces that can be added by head to tail rule are: NP R &m’ﬁ&%cd;idfjk 1)
@ 2 ) () 3 (©) 4 (D) Any number sL/ '
(2) The number of perpendicular components of a force are: -q..&ml»"'uf J’";fd»’é/‘-ﬁf (2)
i (B) 2 © 3 ¢ (D) 4
3) :Th’e'orbital speed of a low orbit satellite is: : ’ -;._Jn{«rd‘i_/u")/u(& WL—‘GJTJ&{ C(3)
(A) Zero (B) 8ms1 (C) 800ms™" (D) 8000ms™!
(4) The K.E of a body of mass 2K Is 254, Its speed Is: -Jm&;«-;. 250 FAGISALGL K 2 (ay.
(A) sms™t (B) 12.5ms™! A @ (D) 50ms™"!
(5) Which of the substance is the lightest one? % ' ?q._(ﬂc._/ (..;lm)&u’uf (5).

(A) Copper {lf (B) Mercury df%s (C) Aluminum (f:.‘:f (D) Lead
@ Lyl (8)

(6) According to Hooke's law:

., (A) Stress x Strain = Constant (24 A (@) Stress _ Constart S oty
Strain U4 4
©) Strain = Dongtant . (D) -Stress.= Strain o= ui'/
Stress
(7) Water freezes at: ’ -;_t'lg,_-ﬁh;.q}/fu’.dg (7
~ P ’
(A) 0°F (B) 32°F (C) -273K (D) 0K :
8 In gases, heat is mainly transferred by: ' < K A 2B S0\ s (8)
" (A) Molecular callision 51/, (B) Conduction o*%  (C) Convestion %" (D) Radiation (FiS4,

(9) The number of base units in S.! are: .-4_111‘;76&26)9& S (9

L (A) 3 (8) 6 )7 (D)o °

(10): A student claimed the diameter  ff P b /e T LPeRGT 1.082 HUSKS e s RNl A e (10

of-a wire as 1,032cm using Vernler Callipers. Upto what extent do you agree with?

(A) 1.03 ecm (B) 1.0cm (C) 1 6m (D) 1.032 cm
(11) A change in position is called: ; O etty (1),
.(A) Speed ,Q: (B) Velocity L'f Us (C) Displacehent M‘%JS (D) Distance i ‘
(12) . Which of the following is the unit of momentum? ’ -q..:}f(ﬁ*?a_tﬂuhgjﬂ (12)
(A) Nm i (B) Ns (C) Kgms2 (D) Ns™
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YoluS - TR . : by« o/ U
TIME ALLOWED: 145 Hours ’ SUBJECTIVE 2Bl Lias = .
MAXIMUM MARKS: 48 M T = 1-23 48 = Af

NOTE: “Write SaIﬁe question number -c.bugﬁ;./)l/fic’f Z//;/“/)JJ’!/'{J!;’&;/Q?GV ks
‘ and its part number on answer book, as given in the question paper. :

SECTION-l il

2. A-ttampt any five parts. 10=2x5 -é//v.—v“)’é’]’é(:ﬁ.—d/ Z/J'/

() Whatis meant by significant figures of a measurement? e s Se sl e Urst A 'u"u’&'u’( ()
Write two examples.

‘(i) - Define: posmve and negative zero error of a screw gauge. -é.d/U e ;‘uz’ﬁ sl w,;'J (Z}/ (i)

(iily What is the difference between base quantities and derived quantities? “g.u/bfu“ uuw;ituluuwd;v (i)

(i) 'Define mdependent variable and dependent variable -é..v}‘(fuuw/”‘dt'uluuw/-“;lﬂ:_néf )&.f.ﬁf “(iv)

" with respect to graph. - _ ‘
(v) . Define Speed and Velocity. ‘ , ' 4/..»//79( s ol i v)
(vi) . Define Weight and Mass, R Z;J/‘.U Jbal i ()
(vii)  What would be happened if all friction suddenly disappeared? . S -‘c.Im(’J wwﬁfﬁ (i)
(viliy . Whait is meant by Atwood machine? s SeilpYe u‘” Saskel " (vill)
3. Attempt any five parts. 10=2x5 ‘ ~é//u“f£‘]'ét¢—df 3/dlr

@iy i How .can a force be resolved into its perpendicutar components? %.Cﬁ_@ : U u’r‘;‘:@;féwfw;’f B (1))
le with the help of an example. @ A ..é_//"&):'/auu(dt? (iif)

(i) Define equilibrium and also give an example. - fi‘u’ JPJMU /J/Jf ,Jd:( I [0)

iy '*'De

(iv) ~ Wiiteitwo uses of artificial satellite. VSl P (i)
(V) ~on vha factors does depend the orbital speed of a satellite?> {&%&.dﬂ,ﬁ/u; [wa f[.g}f;u( l}é‘f’uj 75
(vi) . State the Law of Gravitation. @% .y uyuywu* d;_'/ (vi)
(viiy  VWhat do'you know about solar cells and solar panet"% b Tt AL S Khe (i)
(i) - Why do we need energy? @ “dnu/ UA/J&/U“ (viii)
4. Attempt any five parts. @ 0=2x5 _ z://u wémétgdf 4y
(i) Define Pressure and write its S.1 unit. OV ' . :L’q.n’ Sl KJ’»‘:{J/’J g (i)

(i) Deﬂne Density and-write its S.1 uni
(i)~ -State Pascal's law.

{iv). - Chanhge 300K on Kelvin Sc Celsius scale of temperature. -z: JW:J*"/"” i3 300 K /J.)’u)f - (V)

‘(v)  Define Heat Capacity. ‘ é:_u!/’ J'l/d/'} v)
(vi) . Define Conduction. ' : -ZJ/JJ(A; (vi)
(vii) ~‘Differentiate between Land and Sea breeze. --r//‘L)/UVu[,d/ (" u' d i (vii)
L{vili) ‘ ‘Wh”ét- is meant by Convection Currents? ?c__,ﬂvlf ((J" oy (viii)
T SECTION-Il (1.2
NOTE Attempt any two questions. 18=9x 2 c{//uuuf.uwn;c:,d/ ..u:’
5(A)  Derive the second equation of motion with the help - 1, 3 -,{»vavd/nJJ’/;uJJf(’ tir ()5
of speed-tlme-graph v _
5 ‘ ?Jn.:w/"",(u’/}o’( %.LL@LJ)J{:IW,(;WJ‘")’QL 2ms™2 )fﬂ - 20N u};K,"z..g (»,4)

B " A body has weight 20N. How much force is required fo move it vertically upward with
- an acceleration of 2ms 29
6.(A) Deﬂne Kinetic Energy. .Derive its equation. 4 i /ul._,bL»Juf u‘JJ/J&ﬂu@dK (-6
. (B) The: steering of a car has 5 -J/(:‘”’J Eulu_n!;qc.d’( L 50N - 16cm (& LKJ’EJ/LJKJ( Q.,,)
a radius 16cm. Find the torque produced by a couple of 50N.

4 P=pgh z:mumb’uwg{wa//u‘uua (W7

Lt 7.(A), Explam pressure in liquids and derive its formula. P = p gh 1
| JM:{L,MJA}J,&:,L!,«,G{&W 40°C iUt —ganrin 1.2 m3 £ 15°C Ul ifl ()

(B) . A balloon contains 1.2 m? air at-15°C. Find its volume.at 40°C.‘ 5 -¢-367x10% " =d
By
k™.

Thermal co-efficient of volume expansion of air is 367x10
' | 17-2023(1st-A)-70000  (MULTAN)

o S AN )
~SEkuIS L (i)

4




PAPER CODE 2023 (1st-A) A

'NUMBE.R: 1476 SSC PART- (9th CLASS) .
PHYSICS  GROUP-| | | Cme oS U
TIME ALLOWED: 15 Minutes OBJECTIVE (%« e 15 =
MAXIMUM MARKS: 12 MTu-n 53 122 Af

Aeih |\ S O = [ A ey U g e Ll g Q632 - r D s C B A Al )
VEIN V| -b’;lg}:;ﬁ/&fgﬁuzfcfé_/g‘g JfJ:/b -&Jﬂwyu’uﬁ‘;ufmﬁ.& o é.fJuubuU;.J o]
Note: You have four choices for each objective type question as A, B, C and D. The choice _u/ J’f < Uy
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero.mark in that question. No credit \Jm be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER,

Q.No.1 _ A Ay
(1) In solids, heat is transferred by: -q—-‘.’/’ﬁsﬂ/d@u(wd} :'(1)
(A) Radiation J{luﬁ_{/ R (B) Convection M“:f (C) Conduction ;fr y'g (D) Absorption u“v'ﬂ'/,l A
(2) Metals are good conductors of heat due to the: e (i RS N )

"(A) Free slectrons '/':/-.al:uf _ (B) Big size of their molecdles '/’w'z.b’ﬂzgtéul - ;
(C) Small size of their molecule - FLEF KA Ly (D) Rapid wbratu@ their atoms %71y 2 (1Lt
(3)  Which one of the following unit is not a derived unit? q.u.‘f;‘/’zifl..‘/'zvufauﬁul J(3)

(A) Pascal F (B) Kilogramme 1.¥ (c) % (D) Watt &y

@ The number of base units In S| are: IS S (@)

(A) 3 (B) 6 (D) 9
(5) Which of the following is a vector quantity? Yq_/‘;..mﬁf()'ufa.u:d_’}?/# (§)
(A) Speed 4y (B) Dista (C) Power s} (D) Displacement w3
(6) Ingrtfa‘: depends upon in which of the fo ? ?g.{ngﬁb’_l/‘)lc.wJ_‘j.?/p KG
: (A) Force (s ) Net force Loie?  (C) Mass Ut (D) Velocity (§Us .-
™ A mechanic tightens the n - fe n}’fg(_mffé 15cm S8 i 200N _EL g (7).
of a bicycle using a 15¢cm long spanner by exerting a force of 200N Flnd the torque that has tightened it. !
- (A) 3000Nm (B) 300Nm (C) 30Nm Y (D) 300Nm?
(8) The number of forces that can be added by head to tail rule are: . -4.5‘:!?&1’0"@%“?:!»7&/‘?,4—.();4)5},&1 ®
w2 (8) 3 ©4 (D) Any number LIS
(9) Value of "g" increéses with the: 4 -q_,u’/u)d/ "g" (9) -
(A) Incréa'se in mass of the body ;e_‘f.u’Lb’(" (B) Increase in altitude & ik
(C) Decrease in altitude anﬂZjﬁ-& (D) None of these (i L2l
(10) In Einstein's mass-energy equation, "C" is the: o Ureblg A S T (1(3) '
(A) Speed of sound 4 SiiT (B) Speed of light 4+ (s
(C) Speed of electron Lyfus 9 (D) Spegd of earth Lyt
(11) What should be the approximate length of a glass tube ?ggdnﬂ)w‘jt_,l&,.éb(&f‘éé’;bﬁwb’ J& (11)
to construct a water barometér‘?
(A) 0.5m (B) 1m (C) 2.5m (D) 11m
- (12) - Water freezes at: -q—t‘k’w-i/.{}/:}u’tdﬁ (12)

(A) 0%F (B) 32°F (C) -273K (D) 0K

19(0bj)(***)-2023( 1st-A)-70000 (MULTAN)
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SSC PART- (3th CLASS)

PHYSICS GROUP-I

TIME ALLOWED: 1.45 Hours SUBJECTIVE _UiL» 145 =
MAXIMUM MARKS: 48 M TN~2-23 = AF

_ 48
NOTE: Write géme question number -+e1;w;{4trﬁ£ Zwy‘.;m,b-,jdlrw{d(dm -

~ and Its. part number on answer book, as given in the question paper.

‘. . SECTION- o
-2, A&empt-any-flva_parts.’ . 10=2x5 : -5{;’.»;&:::2:5,5:.8! 24 '
() Write estimate one day in seconds, E LRI ekl G
() What Is meant by Viernier Constant? ' S L7 iy
iy - P'.iék_f out the base unit in the follawing; ey e Sy i

» Watt &l «Newton o« Metre X . Ampere #4  . Mole Jr .
(tv) Defihe Circular Motion, : -g.‘,‘-:..yﬂJJ’f/S« (iv)

v) : .k?'ﬁi#ere,ntiate'be'tween Distance and Displacement. . -& ¢ DI el e i ol (v)
vi) - Whéi.is meant py'Uniform Accelgration? ; ' ?;.ﬂ/y&-_u“f)'gtpuez (vi) °
(vil) Differentiate between Mass and Weight. : - bt M Wiy ut A (vii)
(Vi) * Define Momentum, ) ' L EWAS iy
3. Attempt any five parts. 10=2x§ - f 2L O 341
()  Define Rigid body and Axis of rotation. ‘ IS ST S )

(i) Define Second Condition of Equilibrium. ﬁ#ﬂkﬁ)d/»«f Ak (in)
(iii) Define Gravitational field strength, <e/ —s!{ué’/‘.’bg:ﬁlt&ﬂ;’ﬁdg/ iy
(ivy *What is the value of mass of earth? : @/m’_)’rﬁmm; e BULT - (v)

Write the fgrinula to determine the mass of earth. & {& o
(V) - Define Satelite and write its example. @% - e UtgE Ly A W

- (Vi) How does enetgy produce by burning fossil fusis? %5 ?q-én‘.f.gé,f&/"aé.w:%tf ? i)
(vil) -~ Define Biomass Energy. ' @ ' ~EBISEINLL - (vii)

(vili) Defing an Ideal system? Why is it not pos'ib@cﬁcauy? et A * tvii)

4. Attempt any five parts. 1022x85 oS Linbye 4 )y

() . Whatis meant by Atmospheric ?q-:b'lfc—ﬂ&-’//?w (i)

(i) Define.Elasticity and give

(i) . Strain :h_aé no unit. Explain.

Sl b aydiy 2" G

(iv)"  Deflne latent heat of vaporization. ' St FF s v
v Wﬁat‘:ls meant by Internal Energy ofa'body? ' , ?;_:l/gfc_d/"‘f}'ufr"u’( : {v),

. (V) ‘What s Greenhouse effect? e alussiyS i
(Vi) How does heat reach us from Sun? : o ¥ e tmeis (i)
(vil)  Wirlte :any two uses of Convection current, -4*26::4 UWI:;ngﬁcifu“{if (viii)‘ ‘

SECTIONI (1.0

NOTE: '.‘-A'tt\emptfan'y two questions. 18=9x2 -g{{/’oblz£¢my»c.3/ ....*J_
5.(A) - 'Derlv_e First Equation of Motion by using Speed-time graph. 4 g Blc,l,l,'dfgf;ffc._u&.}b? bey (IN.5°

(B)  Find the acceleration produced by 5 ?J:.ﬁ&w’i)‘gﬂi‘fw}J 100N P Lbl A 50 (L)
: aforce of 100N in a mass of 50kg.

6.(A) - Define equilibrium and expiain its first condition of equilibrium. 1, 3 oo bl A gt S5 A1 (Lins :

1,2,2 AU e A -¢-Cgaut 108 FSbissh 16m SO 70kg Gpli ()
(B) . Calculéte' the power of a pump which can lift 70kg of water thrcugh; a vertical height of 16 metres
in-10 seconds. Also find the power in horée power.
7.(A)  Explain the working process of hydraulic press. 4 -G I g L KL Ry by (.7
| ‘ 5 kSl £y 859 = 109C £ 05 (L)

(8) How much heaf is required to increase't'he temperature of 0.5kg of water from 10°C o 65607
19-2023(1st-A)-70000 (MULTAN)
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PHYSICS GROUP YRR

TIME ALLOWED: 15 Minutes OBJECTIVE u:?/’.ﬁ o 15 = &y
MAXIMUM MARKS: 12 M7 ~G-2> 12= A

Ao B\ /Lf/lwh’u'&févliv/»c,u’ w/lﬁéc_;d_l/d:wr//&{d‘i u‘cCc.: D CB:A VU:’,/GVLJLV/ '
YEIRY -Ki_w;u.‘.':/dfu’,/ﬂ.fg/:/ J{J}/U Kmﬂbkufiuﬂu'u/ﬂd/g// Jok l a,//,’(w/bubcuﬁ &
Note: you have féur choices for each objective type question as A, B, C and D. The choice _J/ J’/'}..,wr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) Two equal but unlike parallel forces having -u_?[}/',y, ‘n.&ffuig IJTJUK&'//}J)%quw‘?d:V» (1)
different line of action produce: ’
(A)ATorque <t  (B)Acouple Jf (C) Equilibrium ﬁ/d,f { (D) Neutral equilibrium #;‘dl 1%

(2) Law of gravitation is: - yib b/uﬁ:djf (2)
Gmm G Me Gmm mm
A) F = 2 B) F=——= C) p =2 D) F="00"
m F === B F == © F == 0y F="C
(3) One horse power is equal to: -g_sz.zi/,gwg.g (3)

(A) 748 W (B) 746 W C) 749 W D) 745 W
@@

(4) The energy stored in coal is: -+&}!u}ojiuﬁJT (4)
(A) Heat energy §/le; (B) Kinetic energy (¢ /vadK Che@n{@%rgy & /Ui“( ) Nuclear energy d./‘l'r!;é
(5) The density of a substance can be found with the help @% -c,UCbJ()"c;ud/ ey )
(A) Archimedes principle I x ! ' (B) Hooke's law w76
(C) Pascal's law uib"cﬁf’ L P (D) Principle of floatation Jﬂiéi_j
(6) The coefficients of linear expansion an ,g.wg»}wgd‘; Kot WL W o w2l le  (6)

volume expansion are related b n:
(04

(A B =3 (B) B =2« (C) B =3a (D) o =4p

(7) Which of the following affects evaporation? . e t//‘t»fu%»ggbzwfc,uﬁul (7)
(A) Temperature Z»/;‘ (B) Surface area of the liquid L;!Ké/d/ ¢l (C)Wind 1x (D)Allthese JV(V,

(8) In solids heat is transferred by: . -3 )KMVJ@‘US(RU/ (8)
(A) Radiation c&ﬂld,éj ( ) Conductlon .,)/ % (C) Convection u’(/ (D) Absorption ﬁ/l‘f.f

(9) Which one of the following is the smallest quantity? ?c‘-d;%’c.//lﬁfgufg,ufd Souk 9)
(A)0.01¢g (B) 2 mg (C) 100 pg (D) 5000 ng

(10) Which of the following is a vector quantity? ?:r/%/fﬁfdufcgldjgzﬂ (10)
(A) Speed ¥ (B) Distance M6 (C) Power s} (D) Displacement o g

(11) Formula of acceleration is: -‘aurfﬁgﬁ)’g‘ (1)

- v, =V, vV, =V, v

) a="— ®) =~ (€)a=-"— 0) a=

(12) Which of the following is the unit of momentum? -‘L&{Kfty}’cu’:gj_:'.yﬂ (12)
(A) Ns (B) Kgms™ (C) Nm (D) Ns™

17(0bj)( < T I 7¢)-2022(A)-70000 (MULTAN)




PHYSICS GROUP-| by - oo/ 3
TIME ALLOWED: 1.45 Hours SUBJECTIVE _El» B145 = =
MAXIMUM MARKS: 48 M Tn 4 -2 a8 = AF

NOTE: Write same question number -{.Zyuufg.{.;“r,ﬂ?gﬁ.: Zy/)/:"JZAl/'fU’/d?;{QKL}lﬁ -2
and its part number on answer book, as given in the question paper.
SECTION-l (il.»

2. Attempt any five parts. 10=2x5 -Efe i linie & 240
(i) Write any two main differences between mass and weight. -4J J/'UW’:c.éfu.‘.'quUL (i)
(i) What is meant by prefixes? Give two examples. ~é;ugb"»» ?q_)ygo /60’/, (ii)
iii) Differentiate between Atomic Physics and Plasma Physics. -g{ugﬁfufu’;’uu;ulﬂ.f el (iii)
(iv)  Define friction and give its S unit. _ iy s CUE s AT v
(V) Define gravitational acceleration. fe Yed JJ ’45{@‘./' _é - }U(ﬁ)’giﬁdgf (v)
Write down its value on the surface of earth.
(vi) Define centripetal force. Write down its formula. -4%;0851}! _54 /Uu’z;’g)’id/:“ (vi)
(vii)  Write down the names of any two instruments for -ét&aufé _kj,»Lbi.xdb*’quf_LJng JLJ (vii)
measuring length.
(viiy  Define velocity and write down its S| unit. -46.:/}1 Si b’JlAIg;fJ/‘"JJ’ Us  (viii)
3. Attempt any five parts. 10=2x5 -é;f..;uzéwég:.é/ 34y
(i) Define Rigid Body and Moment Arm. _J_/._él /U(ﬂ&ﬁ:ld ey (i)
(i) Why the height of vehicles is kept as low as possible? @@w@[ ﬁf»d@bjm{uﬂf (i)

(i)  Define Force of Gravitation and give two examples. S oSl g S S8 ST i)
(iv) How can you say that gravitational force is a field force? {&%ﬁgww@w}ﬁ@ff ujé,{ 9 )’uf.{'f (iv)
(v}  What is meant by geostationary orbit? @% Sl oo 1Y 2 (v)
(vi) Bt A A i)
(vii) ; m. Energy. -J“/(‘j I;J)uf&)ldé‘-ﬁ)'&}lﬂﬁ (vii)
(viii) - eSS g S S SER il
4. Attempt any five parts. ' 2x5 g fe il § -4ty

v

B B D 0 IO

(M

(ii) s _u.'f"{", UL‘:/ILJ‘J!I‘LIZK/}{U:‘% (i)
i) Why is heat transferred from a hot body to cold body? ?‘L(})"'g}u u;:.( uﬁﬁ;ﬁcﬁrf% (iii)
(v)  What is meant by clinical thermometer? Write its range. -U.JZ.:;JJJ' ?g;ygc,/’fr/? = (iv)
(v) Define the specific heat of a substance write its formula. -Mmu@u(m ?i;:ygc_/ﬂ?o/ligfi_gf( (v)
(vi)  What causes a glider to remain in air? _q/ut,..,ra./u.'méﬁgtf (vi)
(viiy  Differentiate between Land and Sea Breezes. -u.‘."gu"/'uidf-ﬂi)ld/:(fl (vii)
(viii)  Define Radiation. S Sk (viii)

SECTION-Il /.2
NOTE: Attempt any two questions. 18=9x2 -gf{f:,yzéamma,éf Y

5.(A) State and explain Law of Conservation of Momentum. 1+3 ool Ykysb Kcﬁu'f"/équ" (-5
Sep 2l n51E 100 - & ot L2546 100 ivﬁﬁfj“l(/ugg, e B fte e SIS ngrdl (D)
(B) A train starts from rest. It moves through 1 km in 100 s with uniform acceleration. 5 ?Jng@:
What will be its speed at the end of 100 s?
6.(A) How will you determine Mass of the Earth? Explain. 3+1 SAeolads JLE Skt (e

5 Ly tihlsige KL 50N _o 16 om GAKSSESLNS ()
(B) The steering of a car has a radius 16cm. Find the torque produced by a couple of 50 N.
7.(A)  What is meant by Volume Thermal Expansion? 1+3 _q/jéi..:,m/&ﬂ ?c‘_)l/l[;ﬁlf;aﬂiui’(ﬁb (N7
Derive its equation.
5 LU 2.55gem™ $HEEE e QUL e 306gU A L EEL L KGR (L)
B) A cube of glass of 5cm side and mass 306g, has a cavity inside it. If the density of glass is 2.5590m‘3.

Find the volume of the cavity.



NUMBER: 1476 ’ SSC PART-I (9th CLASS) | \
PHYSICS  GROUP-I Ml-6). 2 oo ool U

TIME ALLOWED: 15 Minutes OBJECTIVE (%».» w15 =
MAXIMUM MARKS: 12 12= AF

S | /gt:(a/'b.}h‘?(:‘f&/é:..f'_i;/»c,uf u;/'béé_x‘:—l/é:dly/;{éﬂ}/ﬁ pLi,DsCBA .;;(,b?}@ké:dlr/; -
L2 4 B bl ST I Y (L P ,.;/3 SUsHs _Boss e 120G AICY] (A P 4: < by W 7boslie LI L E2
(g Kbl 0 it Lo d S st e izasfi LS ek L & S s mslie L1 _2
Note: you have four choices for each objective type question as A, B, C and D. The choice -u_‘/f;d’f re Ul
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling twe or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1 A A
(1) The work done in lifting a brick of mass 2 Kg SR 5k Bm LU:}MIV_QJ”’/;K 2 ()
through a height of 5m above ground will be:
(A) 2.5 (B) 10 J (C)50J (D) 100 J
(2) What should be the approximate length of ?‘;{_g&n '“/?JUJ!J.UJ&,Z Jéf!,&'gh)ﬂ/ﬂ&g (2)
a glass tube to construct a water barometer?
(A) 0.5m (B) 11 m (C) 2.5m (D)1 m
(3) Water freezes at: e togtsy /}/:’J’ot (3)
(A 0°F (B) 32° K (C) —273 @@ (D) 0K

(4) Which of the following materials has large specific heat? {& © S’.;__Jla&zf?wvu_ud /f-”'tzu/ (4)
(A) Water JL (B) lce iz @ Copper 4§ (D) Mercury (§./7
@%b e b A JE it | (5)
on s (C) Convection ¢ (D) Radiation oIS

antity? ?‘c.é)‘i’,’c, A5 u:(c:,u: J: ${OW) (6)

(5) In gases, heat is mainly transferred by:
(A) Molecular collision ﬂ)’?ﬂfg(. (B)

(6) Which one of the following is the sm

(A) 0.01¢ ) 2mg (C) 100pg (D) 5000ng
(7) Ameasuring cylinder is used to measure: -‘ab@lfr}";/ﬂfg (7)
(A) Mass U\ (B)Area /1 (C) Volume (s (D) Level of a liquid J§Ciy”
(8) Atrain is moving at a speed of 36 Kmh,! -Jn@;&ﬂuﬁ ms ™ -‘Lw/cf/cé«;(f 36 Kmh™ o k1 (8)
Its speed expressed in ms! is:
(A) 10ms™ (B) 20ms”! (C) 25ms™ (D) 30ms™
(9) Which of the following is the unit of momentum? - &{’E/f%’uﬁgfjg/ﬂ 9)
(A) Nm (B) Kgms™ (C) Ns (D) Ns~!
(10) Aforce of 10N is making an angle Srosd P o ettt 30 AL - X i 10 (o)
of 30 with horizontal. Its horizontal component will be:
(A) 4N (B) 5N € 7N (D) 87N
(11) The orbital speed of a low orbit satellite is: -‘aén{;{d/é_/u“‘;// < WL&.JE’E’ (11)
(A) Zero (B) 8ms™ (C) 8000ms™ (D) 800ms™
(12) The altitude of geostationary orbits in -‘Lgﬁauﬁ(ﬁjﬁhfu{ -ngZ./J}/:/’ Wu’i%{ﬂu%:/ﬂd 242 (12)

which communication satellites are launched above the surface of the earth is:

(A) 42,300 Km (B) 6400 Km (C) 1000 Km (D) 850 Km
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PHYSICS  GROUP-II O SN &

TIME ALLOWED: 1.45 Hours SUBJECTIVE _tile 145 = =
MAXIMUM MARKS: 48 MTN-G3.55 48 = /lf

NOTE: Write same question number -c.bz:u’ Z_/Jlr;fiéf CJJ/‘)]A‘/'UVU‘)/QKG')? -y
and its part number on answer book, as given in the question paper.
SECTION-l (sl

2. Attempt any five parts. 10=2x5 -E i linble §S 240
(i) Calculate how many seconds are there in one day? “u?gm,&dfu‘ ekl (i)
(ii) Write two important parts of Vernier Callipers. -uf’fftzﬂuy"(” I3 & s (i)
(il  Why is the use of zero error necessary in a measuring instruments? ?‘adﬂ/;’u,‘..f JW4m;t,{;u:;u759 < (iif)
(iv) How can vector quantities be represented graphically? ?‘gwgﬁwc;/u‘%@uwj{, (iv)
(v) Differentiate between rest and motion. -_é ugJ}uﬁJr/ﬂ:A/ (v)
(vi) Define uniform acceleration. -g;: - /‘Uﬁ)&plﬁg{ (vi)
(vii)  State the Law Of Conservation Of Momentum. _.é Yy G’Kﬁu}"z (‘J‘;’ (vii)
(viii)  Define force and write its unit. 40..;:'&}1/;!5..3!/7&,0} (viii)
3. Attempt any five parts. 10=2x5 -ef://ul.liélllétc;df -3y
(i) Why the height of vehicles is kept as low as possible? “adbu‘( ur( {J»JC' Glf:lp(ub (i)
(i)  Define resultant vector. -Q/.,y/‘J/Q._Jﬂ (i)
(iii) Explain, what is meant by gravitational field strength? @ Vﬁ;;ygcdwtfﬂjﬁdgf iii)
(iv)  What is meant by global positioning system? @ e ~1/l[;/"‘/ T 5 ).:J,v( (iv)

(v)  With what force an apple weighing 1N attract the earth? ﬁ}&.%w,’d‘? “ e INYUBK oLl (v)
-u/Jf“JJi (vi)

(vi) Define Joule.

(vii)  What is mechanical energy and give one example. @ -u;dv_ﬁ/,fu/..u /’J&/! (vii)
(viii)  How can you find the efficiency of a system? E Z: Ut é/r}’zf;’,uf; B Lf( (viii)
4. Attempt any five parts. 1o 2x5 -ézfegszIZIégc,df -4y

R Oy R R O R RN 7 S

(i) Why does a piece of stone sink in wa

a ship with a huge weight floats?

(i)  What is a barometer? S tml s (i)
(i)  Define Elasticity. SIS G
(iv)  Differentiate between Temperature and Heat. SOt (iv)
(v} What is meant by internal energy of a body? ?c‘,)ygf:,&jfd}"-‘ufﬁu’ "W
(vi)  Why does transfer of heat in fluids take place by convection? ?4‘_(3‘@: Jf u{‘;uigﬂlﬂfdlﬁiui ?Ut, (vi)
(vii)  Differentiate between Land breeze and Sea breeze. -_‘éugd/lﬁd/-(iﬂd/‘ff (vii)
(viii)  Define thermal conductivity. ~E G TSE i

SECTION-Il (3.

NOTE: Attempt any two questions. 18=9 x 2 & el e e 3 _od
5.(A) State Newton's second law of motion and 1+3 _ébloquwulg’;/bny <Y 96 !/»KJ;:' (N5

derive its equation. ‘
(B) A cyclist completes 5 S ie -%b/f’u:w 1.5 £l 6L 28L 2L 7 318 S Wt (2
half round of a circular track of radius 318m in 1.5 minutes. Find its speed and velocity
6.(A)  Explain 1st and 2nd condition of equilibrium. 2+2 -u/...»La:JL/d/mﬂJ/d/f/d)‘/l (H)-6
5 - EpPu AL ¢ 400N SIS St e Metre e S amst et (L)

B) A motor boat moves at a steady speed of 4ms™!. Water resistance acting on it is 4000N.
Calculate the power of its engine.
7.(A)  What is evaporation? 1+3 -q/y&:JJibeé_niwﬁl{w ?‘gl{w%:?:gl (.7
Explain the factors which affect the evaporation.
5 LI EHEU e 042N UYL e 0.48N Wik G disttin (L)

({R\ Tha




PAPER CODE

NUMBER: 1475

PHYSICS GROUP-I

2021 (A)
SSC PART-l (9th CLASS)

S

MM GI-2) b - o/ S

TIME ALLOWED: 15 Minutes OBJECTIVE (322 w16 =
MAXIMUM MARKS: 12 12= /ﬂf

S o \ I L e S U E s v E g dEiIR - HELESD 4 C B AN LIy 2]
{.3{4‘;«_/! -(gbt;uﬁ}/«jfgﬂquJA.[.'J(, Jf)s/b -Vnu"’wuliuﬂufuzr'&,& Jo & A—/Juubuhg—..f ke
Note: you have four choices for each objective type question as A, B, C and D. The choice -s.// J’&uwr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A A
(1) The number of forces that can be added by head to tail rule are: - -:‘.Cclgl[&uﬁ;‘?ﬂﬁgfj}f;adsi‘)f}}ﬂ )
(A) Two » (B) Three ¢ (C) Four b (D) Any numbers RS
(2) Earth's gravitational force of attraction vanishes at: _+&gn4&w}ﬁdng¢J (2)

(A) 6400 km , 6400 km (B) Infinity distance 4.1—05;:1:’1)
(C) 42300 km , 42300 km (D) 1000 km ¢ 10
(3) If the velocity of a body becomes double, then its Kinetic energy will: .r % KJJII’L@”%;&’U:J()'L{(//I (3)

db)’ Ufu

(B) Becom@@‘
@@5@ alf o Gloris
@ (C) Meter <

o not leave their position?

(C) Gas u’-f

(A) Remain the same ‘LL'}."'JL'/UJ(
(C) Become four times ?J@nb@.@g
(4) Unit of energy is: - B S (4)
(D) Second £
02 ASFgIR sl (5)

(D) Plasma (it

(A) Newton /¥ (B) Joule J2

(5) In which of the following states, mole
(A) Solid ¥ (B)
‘e Jobareimii Leof  (©)

(6) Which of the following materials has large specific heat?

(A) Copper 4 (B) lce i (C) Water. g (D) Mercury (/7

(7) The unit of specific heat in Sl is: -:‘_t'y:..*f‘gK/.v‘?._wl/u! Sl (7)
(A) jkg Mk (B) JkgK™" (C) Jkg 2K (D) Jkg2K?2

(8) In solids, heat is transferred by: -g..a/bfalvdlﬁldrw‘j/ (8)
(A) Conduction ¢*'%" (B) Radiation /I, (C) Convection *% (D) Absorption ¢/%//!

(9) Amount of a substance in terms of numbers is measured in: _‘a&gt{é_/(:""/lﬁJc.:Luf?—J( ©)
(D) Mole J»
?%}g;JIJFfU'u/c_,d:J:}.?Jﬂ (10)

(C) Displacement Ml‘uj (D) Power s}

(A) Gram (If (B) Kilogram (Vig (C) Newton o

(10) Which of the following is a vector quantity?
(A) Speed Lix (B) Distance <6

e (NI Uiz (1)

(11) !nertia depends upon:

(A) Force Ui? (B) Net force Uvie (C) Mass '\ (D) Velocity (Us
(12) Which of the following is the unit of momentum? -5.&4K(uff¢_ufg}_5?zp (12)
(A) Nm (B) kgms™ (C) Ns (D) Ns™!
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SSC PART- (9th CLASS)
PHYSICS GROUP-| MTN 4 1-21 by - o/ P

TIME ALLOWED: 1.45 Hours SUBJECTIVE _,,;ww 145 = o
MAXIMUM MARKS: 48 48 = AF

NOTE: Write same question number -q.bz)u:;.{.g’l/.&;‘{ GJ)AZJ;MJIV()?J{QV@K ey
and its part number on answer book, as given in the question paper.
SECTION- sl

2. Attempt any five parts. 10=2x5 -5{}@&&&12654&( ..2/.Ulr
(i) Define base quantities and give two examples. -q;utjt‘/;wlq/.yﬂfumﬁd:g% (i)
i) What is meant by Scientific Notation? ?‘LJ'/‘\:(G&.:’&—@L” (i)
(iti) What do you understand by the zero error of a measuring instrument? ?ugi_lgt»f‘QTJQL i agd L-"’(j’,’ggfr (iii)
(iv)  Define distance and displacement. -J_/-—if/jd/mdfu’wbﬁ (iv)
(v) What is meant by uniform velocity? ?f.;yg(_&u,pw (v)
(vi)  What was Galileo's view about freely falling bodies? o Lljgd/g?{jﬁ:_/gL:/'//J()'Lna”_)im)f (vi)
(vii)  Define centripetal force and give its formula. -uf’@nwu_/iy /UJJ}J’EJ P (vil)
(vii)  Why do passengers move outward when b ..,Gfu.[._i}’&:L/'L/»?rui'u’l?c‘:.ﬁﬁnﬁv_ﬁ*z (viii)
a bus takes a turn?
3. Attempt any five parts. 10=2x5 -gigfaymétméggéf -3ﬁ‘Ub’
(i) Define Torque and write its unit. -46.*/:5 KUslgt o PSSt @)
(iy  State the principle of Moments. <€) ~EE ey (i)
(i)  When is a body said to be in equilibrium? @ fe b A ASEIISS (i)

(iv)  What is meant by the force of gravitation? o {&%O ?‘é"/“:rc'—w;’w%&’j (iv)
(v)  What are artificial satellites? U (et (v)
(vi)  What is meant by geostationary orbit? %@ Sl e T2 (vi)
(viy  Define Power and write its unit. @ -jnguluIébg AEs, (i)

@ -l SR wii
OV 40=2x5 ~Efep Lzl 8 4ty

Bt s fSs, 0

(viii)  Define efficiency and write its unit.

4. Attempt any five parts.

(i) Define pressure and write its for

(i)  State Hook's law. L (i)
(iil) What is meant by Stress? Wirite its S.1 unit. -éacx'z St ?c‘-)l/g_fc;u:'/‘ (iii)
(iv) Define specific heat capacity and write its Sl unit. _4{‘/;{ S! Ku’iu*é i /“U/Jj lf'fa/l]gff‘g (iv)
(v) Define latent heat of vaporization. -_dji.éf /U_«,AJJ; w‘c’-;;,,:“, (V)
(vi)  Differentiate between temperature and heat. EUkIp S et (i)
(viiy  How does heat reach us from Sun? ?985;";4.5(75_64,«;/'7 (vii)
(viiy  Define Thermal conductivity. Sy (i

SECTION-Il' pos2

NOTE: Attemptany two questions. 18=9x2 -é{iayméammadf -2
5(A) Derive third equation of motion with the help of 4 e AP S P (LIN5

speed-time graph.
5 -c 0.6 d U Tet @l rp L s§undd S ioenl HPPLp b MLSHL A 5 ()
(B)  How much is the force of friction between a wooden block of mass 5kg and the horizontal marble floor?
The coefficient of friction between wood and marble is 0.6.

6.(A) Calculate the mass of earth. 4 - _’/r)-"‘jl.(uﬁ) ()6
5 UK e 44N 1 38N FEU U —elBe Uy siial (L)

(B) A picture frame is hanging by two vertical strings. The tensions in the strings are 3.8N and 4.4N.
Find the weight of the picture frame.
4 _LJ:/;:)!.@ ~‘L4Jff- JVé‘KC;JLnZwG:AUJ::,/:"J(_;EU%/ ?G_)l/l,_fc..ué“‘déJ (N7
7.{A)  Whatis meant by radiation? On what factors, the rate of emitted radiations depends upon? Explain.
5 e AL 15em? L LEALN e tWSETELO0S TIN = & i K el ()
(B) A student presses his/her palm by his/her thumb with a force of 75N. What would be the pressure

B Tt TRy T S TR S bk oo A Bl ®
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Note: you have four choices for each objective type question as A, B, C and D. The choice —LIILJIGUU"

which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen

to fill the bubbles. Cutting or filling two or more bubbles will resuit in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1
(1)  Which one of the following unit is not a derived unit?
(A) Pascal 1 (B) Kilogram ¢15¥
(2) The length of vernier scale is:
(A) 3 mm (B) 10 mm
A ball is thrown vertically upward. Its velocity at
the highest point is:

(A) -10ms™! (B) Zero *

4)

(A) Velocity (s (B) Net force ¢fa}

(5) The value of Coefficient of friction betwee
(A) 0.2
The number of forces that can b

(6)

(A) Two (B) Three &
The value of "g" on the surface of moon is:

(A) 8.87ms™2 (B) 3.7ms™?

The energy stored in a dam is:
(A) Electrical energy J./’lﬂ/”?l
(C) Elastic energy G/l
(9) Which material has large value of temperature
coefficient of linear expansion?
(A) Aluminum (=31 (B) Gold 4~
(10) The density of aluminum is:

(A) 2500 Kgm™3 (B) 920 Kgm™

(11) In solids, heat is transferred by:
(A) Radiation It (B) Conduction %"
(12) False ceiling is done to:
(A) Lower the height of ceiling &/ S sifes’

(C) Cool the room  tJissde /

(C) 2cm

Newton's first law of motion is valid only in the absenc
(C) Torque ot

r% wet road is:

ed by head to tail rule are:

D) 10 cm

JJ’VJ‘@Q -MK'J.J)J/,.'i,ff,eﬁﬁ
QAO
@i? (D) None of these L2550 i

°¢ryruwuruibéi£uyu‘f 2yl
(D) Momentum (“"r
PR f{ B WAV (VSN D"
(D) 0.8
s e C Bt e ik
(D) Any number PR
e=dd g Ly

(D) 274.2ms™2

(C) 0.6
(C) Four ¢

(C) 1.62ms™
-%Jﬁ&]la)a/.?.}d:&g :.’/.ﬂf
(B) Potential energy gﬁ)!d’%’

(D) Thermal energy G./1\J#
te Qo d SeatdWEs g d sl 2U”

(D) Steel gf/
e d’:}Jffil

(D) 2700 Kgm™

(C) Brass JF

(C) 7900 Kgm™

3 va‘)wu“ruu/

(C) Convection uﬁg}f
-q_t‘ﬂﬁ"b/i.{)@g’éuﬂ&:’”

(D) Absorption i’

(B) Keep the roof clean L4 ufJ
(D) Insulate the ceiling LIS e

A Ay
te uiieude Uyl ()

(C) Newton ¢/ (D) Watt =1
eSS @

(3)

(4)

®)

©®)

@)

©)

(10)

(11)

(12)
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NOTE: Write same question number ,c‘..@/:ui’g./r.glr,&é; @/)/‘,/)ZJ}’/T';J’)’U"J/?Q Kz -s
and its part number on answer book, as given in the question paper.
SECTION-l Jsl.»

2. Attempt any five parts. 10=2x35 -,é,/fagml_wégc,éf “2/ )
—4”  What is meant by Vernier Constant? ?c‘_,yga,u’w'f s (i)
4‘6 Define base quantities. Give one example. ..45‘{)&%@ A YAt (if)
1) What is meant by scientific notation? Give one e ample. -gf::dt‘».g&ﬂ ?4‘-,yy’;ﬁi..,@f"v (iid)
»ﬁ() Differentiate between speed and velocity. -u,/uw)uf&’ Ussslder (iv)
y Define scalars and vectors quantities, - :/.y /Uuuu.?fj/'-.r; 281 J/.‘:C (v)
(viy  Can body moving at a constant spee(; ‘.have accelerati;k e C@J’J)’l‘/{uﬂ(eLbi./Uic;}:&f s (vi)
(v Describe ways to reduce friction. “JIILE DL S i
(viii)  Define centripetal force. Write its equation. -uf’{:m/mu:/_.y fd/w}’d’fd/*':’ (viii)
3. Attempt any five parts. 10=2x5 & ferz Lt O 2340

( Define rigid body. @ _E IS 0
What is meant by Torque? Wirte its unit. @@ < qig&gt(w ‘.‘c‘_:l/y:;.ﬂt (i)

/(ﬁ Define centre of gravity. %Q A PG ST i
What is meant by communication satellites? Oé& ?.;__;r/gc;u"’m" Shauas (V)

& S LS LI ()

What is the difference between artificial and natural s%

i)
iv)
. Write down the value of gravitational acceieratio

A e S g A, o

A
(
/(/
and also write its unit.
M Define Power and write its unit. ©

o lobE (i

Define unit of Potential Energy. - »"‘U_Jy j"d/.*jgﬁgf.)lg}”’;' (viii)
4. Attempt any five parts. 10=2x5 -“égf.pwz&z'égaéf ~4/:}‘,)1,»/
(i Define strain and tensile strain. -gj—é//?u(dfafb?ﬂ'u[/" ()

What is Hooke's law? What is meant by elastic limit? Cesl e etk e YuIbsf (i)
(iii) Define stress. Give its formula and unit. -uf’q.*)gu!JJ:OGKJU;U)L&J/U&/’ iii)
(iv)  Define the terms heat and temperature. -J_/»-é.f/?d/cabub“"u%/;}u‘-’w’f (iv)
( Define specific heat capacity and give its formula. -uf’avrﬁzsu /-—e!/‘.'.dvj Q”/&JVJ:‘? v)
(vi) How does heat reach us from the Sun? Y’;—Gé;érf(?cbff-b/'/ (vi)

Define rate of flow of heat. -q/..@/’.JC/"JsL{,L.wV (vii)

)(t;; Define conduction. _;{f.gfd/gfﬁ'f (viii)

SECTION-Il (.2

NOTE: Attempt any two questions. 18=9x2 -égfaylﬁﬁauin;c:,df -
4 248 = V2-V}? Sy St S ety (-5

5(A)  With the help of speed-time graph prove that 2aS = vi-v?

5 i3 208 L LL Sl 22Ns PR L AT (D)
(B)  How much time is required to change 22Ns momentum by a forcle of 20N? . .
4 K.E = Emv2 _g‘gﬁlobVJJUﬂéib@/"J&ﬂu@dK (-6

6.(A)  Define Kinetic energy and derive its equation. K.E = —2—va

5 e BN wand Y 12N e - X e St (&)
(B)  Find the magnitude and direction of a force. Ifits X — componentis 12N and } — compoﬁnent is 5N.
4 e V =V (1+ BAT) FE o bantad JSUA Sarst s (-7

7.(A)  Define and explain the volume thermal expansion. Also derive the equation. V =V, (1+ B AT)
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e R VN Ry AT SN SR AN R e Az G S e §E S Sk LS imsyie i L2
Note: You have four choices for each objective type question as A, B, C and D. The choice -J_/::J}C:.;.l“r
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) ____isthe smallest quantity. -93;@’;,//lﬂ__ (1)
(A) 0.01¢ (B) 2mg (C) 100mg ) (D) 5000ng

(2) Conversion of ms™! to Kmh™" is equal to:- &L uf,«;u: Kkmh™\§ ms™' (2)
(A) 0.36 Kmh™! (B) 0.036Kmh™'  (C) 36 Kmh™ @%) 3.6 Kmh™!

(3) The unit of Momentum is:- QC@ -.a.;-'g{('"/r (3)

(A) Nm (B) Kgms™> (C) Ns 0@&% (D) Ns~!
(4) Newton's First Law of Motion is valid only in the absenc @+ thUbIKJruiG‘Z‘_LJx'V'!J)ﬁr/;‘J L
(A) Force J) (B) Net force w}.:{' 7p Briction f; D) Momentum /r
(5) Aforce of 10 N is making an angle of ~ _firu.s '.r:";jl -:_;@!;.,:UK 30° Al i1 - Xdfif () 10N (5)
307 with the horizontal-axis. Its horizon
(A) 4N B) 35
(6) Thevalueof £ ataheight of
surface of the earth, is:-

2\

(C) TN (D) 87N

garth's radius above the -;_dn{dﬁd,wﬂé;f:;&w&—,{o’ g ()

) 2 B 3¢ o5 0 1

(7). Ifthe velocity of a body becomes double, then its Kinetic energy-- -:d}:@é(Jw?Lm@d’u,Jﬁﬂ (7)
(A) Remains the same c‘-.ﬂwf {B) Become double q_Jlgxl'f»
(C) Become fourtimes. ¢t (D) Become half o f31

(8) Rate of doing work is called:- i ;(:,‘5@(;’_/.3 (8)
(A) Power 2z (B) Torque b (C) Velocity u"u; (D) Momentum I’?.»'

(9) The approximate length of a glass tube to construct a -égénfﬂﬂ&u&,fd/c‘f{.éle}f:/_-.b’dg (9)

water barometer should be:-

(A) 0.5m (B) 11m (C) 2.5m (D) 1m

(10) The number of ways by which transfer of heat takes place:- -.uiﬂv\,(ué’ o7 JE (10)
(A) 3 (B) 2 (C)5 (D) 4

(11) The value of specific heat of dry soil is about:- -;_Jn;};éwéﬂzﬁﬁ (11)
(A) 4200JKg 'k~ (B) 810JKg™1k~!
(C) 700 Kg™'k ! (D) 3000JKg 'k~ )

(12) Land and sea breezes take place due to:- ) -:..Jytd'}c._vd/ J,f-(-’j;fd,:f.’. ' (12)
(A) Convection current o2 /-Fed  IR) Candimtinn 207 o &, T b T
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NOTE: - Write same question number -4.@:‘;.;_/4»'.@;{ b/:/GYJ:l/-/d!rcj":/Qb’dli ew.

and its part number on answer book, as given in the question paper.
SECTION-l il

2. Attempt any five parts. 10=2x5 ez linbie 240
) What is meant by Derived Quantities? el e uul,w:it (i)
(i)  Whatis meant by Scientific Notation? e I SR (i)
(iii) Define Zero Error and Zero Correction. {:...d/fu‘ef NIV i)
(iv) Differentiate between Rest and Motion. ..;f (‘: uu)u‘u’ful_// (iv)
(v) Define Translatory Motion and Rotatory Motion. 4” ..d/’J :’d Fss u’rd )" (4 (v)
(vi) Define Force and write its formula. j f/bb’JUJ'g{J}’JJM’ (vi)
(vi)  State Newton's Third Law of Motion and give an example. iy t‘/.ﬁmg:uvu:‘ﬁ' KT (vil)
(viii)  Define Momentum and write its unit in S.1. Lo ST R Sy (il
3. Attempt any five parts. 10=2x5 -é{iy&’?é‘?‘étc—é‘{ 34y
(i) What is the difference between Like and Unlike Paralle! Forces? b u/b(ut //iJJ!L:J uuw.( U (i)
(i)  Why the height of vehicles is kept as low as possible? ?adlpgf/ U H/J»uadv,u!uh (ii)
(i)  State Newton's Law of Gravitation. = ub/uiﬁ& u’ di/Zux. (iii)

(iv)  Why does the value of "g" vary from place to place? S J’/ur‘,.i‘.) J ‘g" (iv)
(v) What is meant by Gravitational field strength? @ el u:oCJrU" d:/ (v)
(viy  Define Energy. Give types of Mechanical Energy. &= (;!Jd/hf"r z‘; J/“Jd yl (vi)
(viij  Define Potential Energy and write its formula e _J:"ﬁlb’wb’d WA P ARY V! (vii)

Ynrgad am 472 LJL(I/;K 50 (viii)
Potential Energy? (g = 10ms” )

(g=10ms?) - ZrPGink
(Viil) A pody of mass 50 kg is raised to a height of 4 m. W@

4. Attempt any five parts. — 2x5 e lnbia $f af)y

(i) State Archimedes Principle. ) & J/”JJ:"ﬁ«J»’ 7 (i)

(i)  The mass of 200 cm® of stone is 500 S e 500 g ULEAL ol 200 em3 L (i)
Find its density.

(i)  Whatis meant by Young's Moduhis” B e e e (i
Write down its mathematical formula. i

(iv)  How does heating, affect the motion of molecules of a gas? Sebw {-';«IV{C/:}"J/"z‘Qtd:JfU/ (iv)

(v)  What is meant by Volumetric Thermal Expansion? -égf&unb‘b’ul ?‘4)’/[{(4‘_5 s J/lx"u:p!f: (V)
Write its formula also.

(vi)  Write the uses of Conductors and Non-conductors. L&Al P 0 (i)

(vi)  Write two consequences of Radiation. e inl Fst, (i)

(vii) What is meant by Global Worming? What is its main cause? el wSU fe )l/l_,_fc,.évi:Jf (viii)

SECTION-II fn.2
NOTE: - Attempt any two questions. 18=9x2 -g‘:‘:‘(]’ayﬁéamruédf -

5.(A) State and explain the Law of Conservation of 4 -_é.wuac,uJJ(‘/Ju;éﬁéuguNK\;‘/-,/?Z ("Yr (.5
momentum with the help of spheres example.
°J¢.bv[dﬂ(f/)bc.—ul.u«f ..i 3s IJ'JZJ(LVJ/A . ‘(JQMJ)J/’“”}C— J 30 ms™! :ULJ".I' (_.—)
(B) A tennis ball is hit vertically upward with a velocity of 30ms™". 5 "(i.);bfu: gldel:/uﬁj);f

It takes 3 s to reach the highest point. Calculate the maximum height reached by the ball.
How long it will take to return to ground?

6.(A) Define Equilibrium. Explain states of equilibrium. 4 Sl SuReSEASE S uASEASE (L6
F0s8 50 ms! (U - FSF ey bty -5 JF g § 200N S vl ¥ 20 ()
(B) A force of 200 N acts on a body of mass 20 kg. The force 5 .q.,d/JfJéioni Y o

accelerates the body from rest until it attains a velocity of 50 ms 1. Through what distance the force acts?

7.(A)  Define Evaporation. Write factors which affect it. 4 ¥ *;/ T M u/uf -J/J/J‘f eyl (N7
5 -J_.J,"}”V'J;’ddk{lﬁdl__,{ul -q_mg:.‘,;ﬂ, v-dt ~& 10 cm dd(,(é'}..;fur b’dﬁﬁfl (_._)
mY A woenden clube of sides 10 cm each has been dipped completely in water, Calculate the up thrust
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Note: You have four choices for each objective type question as A, B, C and D. The choice -J_JQJ’J’..-., Ul
which you think is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay

(1) InIsolated system, the momentum after collision of two bodies is:- -:("";’K(UJLMI)@J(’/ T (1)
(A) Increased < tbs (B) Constant QL?/JP (C) Decrease ‘crlg@) Zero < b ‘

(2) The number of forces that can be added by head to tal rule:- O@) -c‘-CCWb"u:ﬁlﬂJ //}:.}J;/Jii,&q 2)
(A) 2 (8) 3 (RS (D) Any number sl

(3) Thevalueof 'g" atmoon is:- @% -9.;23/ ‘e e (3)
(A) 9.8ms™> (B) 10ms™> é%l.?ms“z ) (D) 1.6ms™ '

(4) In Einsteins-Mass-Energy equation, "C" th -‘LJ/;U; "C" eSS (4)

(A) Speed of sound ST
(C) Speed of light (53
(5) The formula of Power is:-

(B) Speed of Earth 4xfu
(D) Speed of electron. 4xfuis 4!

< U}"/WA‘L' (5)

(A) P =wi ®) p=—’rﬁ ) P=my D) P =ma

(6) InS.Isystem, the unit of stress is:- .c‘-.y'gb’uf,’/‘j(y (S.1) Jf'.ﬂl (6)
(A) Nm™! (B) Nm~2 (C) Ns (D) Nm )

(7) The thermometer is use to measure:- -9t@§fJb>l_L£L/J’5&r} (7)
(A) Temperature of body .wv.yuK()' (B) Force s (C) Length J&J (D) Time 3y

(8) Insolids, heat is transferred by:- LIV E LI (8)
(A) Radiation (5%, (B) Conduction %" (C) Convection 55" (D) Absorption c/wlz/

(9) Ingases, heat is mainly transferred by:- <3 }K.-.A/.,Jli?iu.‘un{ (9)
(A) Molecular colision 544, (B) Conduction o'y & (C) Convection ¢4 (D) Radiation =152,

(10) InS.I system, the unit of mass is:- -g&gw;ut(y SI - (10)
(A) Second 4 (B) Meter % (C) Kiogram % (D) Newton ¢ )

(1) The motion of a body in straight line is:- -{.JMJ/J(.‘V buﬁfu’( (11)

| (A) Circular motion Jr):/ (B) Random motion J/(};., .
(C) Linear motion Jr 2 (D) Translatory motion er b

(12) In 8.1 system, the unit of Momentum is:- -‘c.*;;(/‘%*u.‘// S| (12
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NOTE: - Write same question number -g.&J:J;.{.JIrJ?g‘,{ b/:/:"szj;l/{")’ruigdﬂ}’z -y
and its part number on answer book, as given in the question paper.

SECTION-l Ji.»

2. Attempt any five parts. 10=2x5 ,;{//.,w[_métc,df _24 )

(i) Why "Screw Gauge" is considered more-useful fe twf uLTM:LJ ny;..w'u/ ,,t‘—f ol (i)
than "Vernier Calliper'?

(i) What is meant by Zero Error and Zero Correction? l/lfc. Jf 14345 230 isVsg) (ii)

(i)  Write the method to find least count of screw gauge. u‘g.g K oo i w g:'/’ (i)

(iv)  Why vector quantities can not be added and subtracted like NP4 )Juuw)-[d IgSusats (v
scalar quantities?

(v) Define Positive and Negative Acceleration. -u/.u /J 4 VC ,,_..G VIS 74 (v)

(vi)  State the Law of Conservation of Momentum. gfuuuye‘& =1 /[.(V ¥ (vi)p

(vii)  Why do the passengers move out ward when a bus (S bz ud AR e O S Ll (vil)
takes a turn?

(viii)  State Newton's Second Law of Motion and write its equation. -u:’a.,!:VJJb,U/uuu:'m/»b’Jrb’u,c (vm)

3. Attempt any five parts. 10=2x5 -‘{//u“f&']lé‘:c—(}/ 234

(i) What is meant by Resolution of Forces? el e P /%y (i)

(i)  Differentiate between Torque and Couple. & ubu/uﬁJ{ s St (i)

('M’

(i) For what purpose artificial satellites have been sent into space? "c. t'bLf"utlkfuuLJr"é.LWL/ (iii) -

(iv) If R isdoubled then what will - (g %r FYLSES 8" FibwS kR (iv)

bechangein "g" ( where g = -R—z"*

(v)  Whatis the distance of geostationary satellité\ 9‘4fg‘!uva_suécm,,n;.{déﬁ_‘;;.u ysi ()
earth and what is its speed with respect Sh?

(vi)  Define "Work". What is its Sl unit

Se Uy SIEUT .SEs A0S (Vi)

(vii)  What are Solar Cells and write e. St sy K (vii)
(vii)  Define Watt and write dow s of its larger units. a: 7/ /rtaﬁgf’ga./[.wulé - /"J/... Iy (viil)
4. Attempt any five parts. 10=2x5 z://._,l.liél/!éta,w -4/Jlr

(i) The mass of 200cm” volume of a stoneis 500g . _ZE, r}‘”o’* Sut e 500g JVAL s 2000m Y (i)
Find its density.

(i) Define Pressure and write its formula -ﬂnb(u’wg: -3 }"J // (i)
(iii) State Archimedes Principle. g: der"l KJM/! (iii)
(iv)  Define latent heat of Fusion and write its formula. - )qanb’lez,f - /’J.,AJJ;J 3 (iv)
(v)  Convert 100 F into the temperature on celsius scale. . f/J,WﬁJCu“)" i3 / 100°F /J;..« b (v)
(vi)  Why are metals good conductor of heat? "u'dnu/ i JJL/ fo._,,l/}"”‘ (vi)
(vii)  What is the difference between Conduction and Convection? __J )lfut ¢ —ym,' A (vii)
(viii)  Define Thermal Conductivity. SEa iSO A (i)

SECTION-Il (3.0

NOTE: - Attempt any two questions. 18=9x2 -g,-f,//:,gm[..-.uvmc.df ey
5.(A) Derived the Second Equation of Motion with the 4 -‘j_/@l.-;lsvd/mf.:f/c.u&ﬂff bir (1.5
help of speed-time graph?
5  tUnen Sl Li Ve il 3msT e mE 2L, 50 em LA Fos (L)
(B) How much centripetal force is needed to make a body of mass 0.5 kg to move in a circle of radius 50 cm
with a speed 3 ms™!
6.(A) Determine a force from its perpendicular components. 4 -J /F}”w;’c_ud/ P ,.NSJ (H)-6
Amanpuls 5 -ZPu SIS S e F som L60s i 300N LSl ()
(B) a block with a force of 300 N through 50 min 60 s. Find the power used by him to pull the blocls
4 V=Vy(l = BAT) Sy lat iy /afSsugdansteds (N7
7.(A)  Define volume thermal expansion and prove that }' = V(1 + B AT')
5 e sTue 318 125000 N 4 » -at'/,,.,}tu'q 0 SU” (barge) 142 8m il 40m LI (L)
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Note: You have four choices for each objective type question as A, B, C and D .The choice which you think is correct, fill that Bubble
in front of that question number. Use marker or pen to fill the Bubbles. Cutting or filling two or more Bubbles will result in zero mark in
that question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be awarded in
case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER

Q.No.1 LA Iy
(1) In system international the unit of momentum is: q—-f#’('/ sl JEpd )
(A) Nm (B) Kgms? (C) NS (D) NS
) A force of 10N makes an angle of 30° with the X- Qb s630° A LA Xy Li§10 @
axis. Horizontal component of this force will be: g,,__,;,f‘}’ (32
(A) 4N (B) 5N (C) 7N @ (D) 8.7N
(3) Earth’s gravitational force of attraction vanishes at: <?) dwwww’ AVALIRE)
(A) 46400 km (B) Infinity 4.belssy O@BOO km (D) 4 1000 km
(4) The energy stored in a dam water is: &% 4.dn&mm/:u¢dl.£( 3 (4)
(A) Electrical energy Ak @ (B) Potential energy &/u}“ “y
(C) Kinetic energy J./1-& (¥ % (D) Thermal energy &/t J 2
(5) InEinstein’s mass-energy equation “C” r the e b6 C Lo G- S IT (5)
(A) Speed of sound # 4z inT <> (B) Speed of light S4¢J5 s
(C) Speed of electron S4xSus (D) Speed of earth 2yt
(6) Approximate length of a gl to construct a g gl LSS RS EE L Lt 2108, (6)
water barometer should b
(A) 0.5m (B) Im (C) 25m (D) 1lm
@) effects evaporation. et S g ¢))
(A) Temperature ,g:ﬁ (B) Surface area of liquid _L,/,fFfJ & (C) Wind 12 (D) All of these J1# (7,
(8) material has large specific heat. e Ju¥ oy 2N Zesk JX 3
(A) Copper ¢ (B) Ice i (C) Water (¢ (D) Mercury §/,
(9) If thickness of wall is doubled, its thermal conductivity: (G ML SN ierdapy” @
(A) Becomes double q.awm (B) Remains the same 4.644_(}, )
(C) Becomes half &7 (D) Becomes one fourth < (@ 5Li
(10) The number of base units in Sl is: :4,,1,JJJ'¢¢5;9¢}.'SI (10
(A) 3 B) 6 ©) 7 D) 9
(11) A body has translatory motion if it moves along a: PRI e ;g»', 2t g an
(A) Straight Line  2£ (B) Circle o7
(C) Line without rotation e U2fufi (D) Curved path 4=iuis?
(12) Inertia depends upon: 14-"”/“’"5.“:.}‘ (12)
(A)Mass 4t (B) Net Force 4 yuder (C) Friction 4 e (D) Momentum 4~
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NOTE: - Write same question number and its part el Lty S 2 &t 71 A I S PALA L0

number on answer book, as given in the question paper.

SECTION-1 il .«

2. Attempt any five parts. 10=2x5 - ezl 3f 20y
(i) You are fifteen years old. Estimate your age in seconds. -{5‘;)}‘?‘-}-‘? (/&I-C‘_JV-/.«';/J.,—T ®
(i) How is stop watch used? e dedUidenat G
(iii) Express the following quantities using prefixes. -& e sal 353 s JUsiSipsne Gl
(1) 5000 g (ii)52x 107 ¢ (i)5000g (ii)52x10"¢
(iv) Define uniform acceleration. Ay /"Q(Aizg Gv)
(v) Define position. Is it vector or scalar quantity? S‘q./ui')-:‘ LA E /'"Jf-ig )
(vi) Define speed and write its unit. -J&g(dwlé’.:.a /7&?; (vi)
(vii) What is meant by banking of road? P /LJ':,S»JT..‘@ (vi)
(viii) State Newton’s third Law of Motion. _ZELIs A6 S (i)
3. Attempt any five parts. 10=2x5 L f ezl 343Dy
(i) Define rigid body and moment arm. -5{4 /JJ(/Tyrmdigél ®
(ii) Define centre of mass and centre of gravity. E G S S ST G

(iii) Why does the value of ‘g’ vary at different places? Explain ZEeoloste Saud G Uk Y 2 J ‘o Gii)

(iv)How do we represent gravitational constant? Write —_of.J ,J:_.,-gs,b(wc‘érg,g e Yof Fese/ v
its value in SI unit.

(v)How much away the moon is from the earth? In how many kL w);t:?.;_/,zsz?:a.u:ug (v)

days, moon completes one revolution around the earth? ‘-“at'/ J‘; LUS
(vi) Write Einstein’s mass-energy equation and the value of Jd’ ,wr;f.;‘ub-&/'t-JLJJbJT (vi)
speed of light in SI unit. o @ FaLoysiaiS

(vii) Write importance of wind energy. “Z i Fem @Ak (i)

(viii) What is meant by biomass? How can electﬁcity%@ te Fedind ¥ uitest et Giil)
generated by it? '

4. Attempt any five parts. x5 i f ey lnbhadSas iy
(i) Write two important features of kineti &ular model of matter. - zler® uw»JJ}L)J‘L.@'JKLuL @
(ii) What is meant by plasma? Sest e bily G
(iii) Define density and write its ¢ -_A’l—vawmg,’:’.& }J ¢ Gid)

(iv) Differentiate between temperature and heat. & Zf IS =7 ol /3:/ (Giv)
(v) Define lower and upper fixed points of thermometer. E PSS g LG )
(vi) What is meant by transfer of heat? Seit p ez 7JB (vi)
(vii) Differentiate between conduction and convection. -g';((‘: bJ/'uCg’{ ifuuf 2 (vii)
(viil) Write two uses of convection currents. vl S o5 (i)
SECTION-1I (3.4 :
NOTE: - Attempt any two questions. 2x9=18 -{,‘:4)’ .-,uzé.-.-.mmg,éf -
5. (a) Derive :2"" equation of motion with the helpof () S eraSaS et el sl ST ()25
speed-time graph.
(b) A stone of mass 100g is attached to the end of a o Ll L FL /’;.__flégtrlf 100 (&)
string 1m long. The stone is rotating in a circle -c,&;/ S St Sms™1 ¥ KA losl
with a speed of Sms™'. Find the tension in the 5 -g‘é’-:r"" TR
string.
6. (a) E:Lg%oﬁinetic energy. Derive its mathematical  (4) e du-gas J 58 & d¥ (-6
(b) Find the magnitude and direction of a force ifits (5) #I12N .':g',f-xﬁﬁ e ternir$Suig (&)
x-component is 12 N and y-component is 5 N. - 5N _‘.‘{;,f-y

7. (a) What is thermometer? Describe the properties of (4) _afupetor’ SElvindi1tut e 702 ()27
liquid used in it. i b

(b) A cube of glass of 5 ¢cm side and mass 306 g, has B L 1516306 gV o LELNLREF s (D)

a cavity inside it. If the density of glass is 2.55 192255 gem > Fug e fl-;.&l,é‘lr L
gem”, then find the volume of the cavity. (5) S T i
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Mote: You have four choices for each objective type question as A, B, C and D .The choice which you think is correct, fill that Bubble
i front of that question number. Use marker or pen to fill the Bubbles. Cutting or filling two or more Bubbles will result in zero mark in
that question. Attempt as many questions as given in objective type question paper and leave others blank. No credit will be awarded in
case BUBBLES are not filled. Do not solve question on this sheet of OBJECTIVE PAPER.

Q.No.1 Ay
(1) The formula for mass of the earth is: ey AL s (1)
Gg ? R’G G2
(a) Me=T ®) Me=E © Me=" ®)

(2)  The unit of energy is: PROTIAV )
(D) Second £

:q_rn4:4Jx¥ £ (3)

(A) Newton /¢ (B) Joule Jz (C) Meter #

&P

(3)  One kilo joule is equal to:

(A)107] (B) 10*J (©) 10°J Q{BO (D) 10*J
(4) The unit of density in System International is: :ﬁ-..y‘,_'K&’.' NNl A (@)
(A) kgm (B) Kgm™ (D) kgm™

@ Scale is:
(©) T(K)=1272+C

:@rﬁb’&i‘;&ﬁuﬂfa‘ﬁ* (s)
(D) T(K) =273+C
:4../:"” ez (6)

(5) The formula of conversion from Celsi s

(A) T(K) =270+C (B) : 7l+C

(6) The specific heat of ice is:

(A)2100 JKg' K (B) 2200 JKg' K (€) 2300 JKg ' K! (D) 2400 JKg' K
he val fficient of li ion of wl an ;
) :r aes sv;is:ue of coefficient of linear thermal expansion o =-,'-~=-‘.’u(-‘-—":' DS L5l LS ()

(A)1.9x 10" K (B) 1.9x 10°K" (C)1.9x 107K (D) 1.9x 10* K"

(8) The unit of volume is: el gfrads (8)

(A) Meter < (B) Force ¢ (C) Cubic meter £ £ (D) Second i£f

(9) The formula of velocity is: e Ur 85 s (9)

1
V=—
(A) g

(10) The unit of force is:

d
®) V=1

(A) Meter % (B) Second i

(11) The formula of momentum is:
(A)P=ma (B) P=mv

(12) The Moment Arm is represented by a sign:

(A)T (B)L

(C) V=d+t (D) V=h+t

e gy (10)

(D) Newton /¢
e U By (11)

(C) Joule Jz

(C)P=dt (D)P=Fxd
bl e erledp ey (12)
(O)F (D) N

MIN-G. -8




